

A new general polynomial transforms for solving ordinary differential equations with variable coefficients

Emad A. Kuffi^a, Sara Falih Maktoof^b

^aDepartment of Materials Engineering, College of Engineering, Al-Qadisiyah University, Iraq

^bDepartment of Mathematics, Faculty for Girls, University of Kufa, Iraq

(Communicated by Madjid Eshaghi Gordji)

Abstract

In this paper, we introduce the definition of a new general integral transform which call it "A new general polynomial transform". Also, we introduce properties, theorems, proofs and transforms of the Logarithmic functions, polynomials functions and other functions. As well as, we discuss how we can apply this integral transform and its inverse to solve the ordinary differential equations with variable coefficients.

Keywords: Integral transforms, Inverse integral transforms, Polynomial transform, Inverse polynomial transform

1. Introduction

Laplace, Sumudu, Natural, Elzaki, Aboodh, SEE, complex SEE, polynomial transforms [3, 2, 7, 4, 8, 1, 5] which is known to find the solution the linear ordinary differential equations with constant coefficients ($L.O.DE^s$) with one condition (data) that integral transforms of the function $f(t)$ is defined. In this paper, we define and present a new integral transform which is work to find the solution the linear ordinary differential equations with variables coefficients [6]:

$$a_0 t^n \frac{dy^{(n)}}{dt} + a_1 t^{n-1} \frac{dy^{(n-1)}}{dt} + \dots + a_{n-1} t \frac{dy}{dt} + a_n y(t) = f(t)$$

a_0, a_1, \dots, a_n are constants.

This integral transform is defined for some functions, the kernel of this transform $k(p, x) = x^{-q(p)-1}$, where $q(p)$ is a function of parameter p , and the interval of the new transform is $[a, b] = [1, \infty)$.

Email addresses: emad.Abbas@qu.edu.iq (Emad A. Kuffi), saraf.alkhazai@uokufa.edu.iq (Sara Falih Maktoof)

Received: October 2021 *Accepted:* December 2021

2. The general polynomial transform

A new integral transform “A new general polynomial transform” for the function $f(x)$, where $x \geq 1$ is defined by the integral

$$P_g\{f(x)\} = \int_{x=1}^{\infty} x^{-q(p)-1} f(x) dx = \int_{x=1}^{\infty} x^{-(q(p)+1)} f(x) dx = F(q(p)),$$

such that the above integral is convergent, and $q(p)$ is a function of a parameter p . (for example $q(p) = \frac{1}{p}$, $q(p) = p^2$, $q(p) = \frac{p}{1-p}$ and so on).

2.1. Property of a new general polynomial transform

A new general integral transform is characterized by the linear property that is

$$P_g(Af(x) \pm Bg(x)) = AP_g(f(x)) \pm BP_g(g(x))$$

where A and B are constants, the functions $f(x)$ and $g(x)$ are defined when $x > 1$.

Proof .

$$\begin{aligned} P_g(Af(x) \pm Bg(x)) &= \int_1^{\infty} x^{-(q(p)+1)} (Af(x) \pm Bg(x)) dx \\ &= A \int_1^{\infty} x^{-(q(p)+1)} f(x) dx \pm B \int_1^{\infty} x^{-(q(p)+1)} g(x) dx \\ &= AP_g(f(x)) \pm BP_g(g(x)). \end{aligned}$$

□

2.2. Transformations for some basic functions

For any function $f(x)$, we assume the above integral exists. The Sufficient conditions for the existence of a new general polynomial transform are that $f(x)$ for $x > 1$ be piecewise continuous otherwise general polynomial transform may or may not exist. In this part of section, we find general polynomial transform of simple functions

1. If $f(x) = k$, k is constant, then $P_g\{k\} = \frac{k}{q(p)}$, $q(p) > 0$.

Proof .

$$\begin{aligned} P_g\{k\} &= \int_1^{\infty} x^{-(q(p)+1)} k dx \\ &= k \int_1^{\infty} x^{-(q(p)+1)} dx \\ &= \frac{k}{-q(p) - 1 + 1} [x^{-(q(p)+1)+1}]_1^{\infty} \\ &= \frac{-k}{q(p)} [0 - 1] = \frac{k}{q(p)}, q(p) > 0 \end{aligned}$$

□

2. If $f(x) = x^n, n \in R, x > 1$, then $P_g\{x^n\} = \frac{1}{q(p) - n}, q(p) > n$.

Proof .

$$\begin{aligned} P_g\{x^n\} &= \int_1^\infty x^{-(q(p)+1)} x^n dx \\ &= \int_1^\infty x^{-(q(p)+1-n)} dx \\ &= \frac{1}{-q(p) - 1 + n + 1} [x^{-(q(p)+1-n)+1}]_1^\infty \\ &= \frac{-1}{q(p) - n} [0 - 1] = \frac{1}{q(p) - n} \end{aligned}$$

□

3. If $f(x) = \ln(x), x > 1$, then $P_g\{\ln x\} = \frac{1}{(q(p))^2}, q(p) > 0$.

Proof . $P_g\{\ln x\} = \int_1^\infty x^{-(q(p)+1)} \ln x dx$. Integration by parts, we get $P_g\{\ln x\} = \frac{1}{(q(p))^2}$. □

4. If $f(x) = x^n \ln(x), n \in R, x > 1$, then

$$P_g\{x^n \ln x\} = \int_1^\infty x^{-(q(p)+1)} x^n \ln x dx = \int_1^\infty x^{-q(p)-1+n} dx.$$

Integration by parts, after simple computations, we obtain:

$$P_g\{x^n \ln x\} = \frac{1}{(q(p) - n)^2}, q(p) > n.$$

5. If $f(x) = \sin(a \ln(x)), x > 1$ and a is a constant then $P_g\{\sin(a \ln(x))\} = \frac{a}{(q(p))^2 + a^2}$.

Proof . $P_g\{\sin(a \ln(x))\} = \int_1^\infty x^{-(q(p)+1)} \sin(a \ln(x)) dx$. Integration by parts, we get:

$$u = \sin(a \ln(x)), dv = x^{-q(p)-1} dx, du = \frac{a \cos(a \ln(x))}{x}, v = \frac{-x^{-q(p)}}{q(p)}.$$

$P_g\{\sin(a \ln(x))\} = \frac{a}{q(p)} \int_1^\infty x^{-q(p)-1} \cos(a \ln(x)) dx$, also Integration by parts, we obtain

$u = \cos(a \ln(x)), dv = x^{-q(p)-1} dx, du = \frac{-a \sin(a \ln(x))}{x}, v = \frac{-x^{-q(p)}}{q(p)}$, then

$$P_g\{\sin(a \ln(x))\} = \frac{a}{q(p)} \frac{-x^{-q(p)}}{q(p)} \cos(a \ln(x)) \Big|_1^\infty - \frac{a^2}{(q(p))^2} \int_1^\infty x^{-q(p)-1} \sin(a \ln(x)) dx$$

$$P_g\{\sin(a \ln(x))\} = \frac{a}{q(p)} \left[0 + \frac{1}{q(p)}\right] - \frac{a^2}{(q(p))^2} P_g\{\sin(a \ln(x))\},$$

$$\left(1 + \frac{a^2}{(q(p))^2}\right) P_g\{\sin(a \ln(x))\} = \frac{a}{(q(p))^2},$$

$$\left(\frac{(q(p))^2 + a^2}{(q(p))^2}\right) P_g\{\sin(a \ln(x))\} = \frac{a}{(q(p))^2},$$

$$\text{Then } P_g\{\sin(a \ln(x))\} = \frac{a}{(q(p))^2 + a^2}$$

□ Similarity:

6. If $f(x) = \cos(a \ln(x)), x > 1$ and a is a constant then $P_g\{\cos(a \ln(x))\} = \frac{q(p)}{(q(p))^2 + a^2}$.

7. If $f(x) = \sinh(a \ln(x)), x > 1$ and a is a constant then $P_g\{\sinh(a \ln(x))\} = \frac{a}{(q(p))^2 - a^2}$,

$|q(p)| > a$

Proof .

$$\begin{aligned} P_g\{\sinh(a \ln(x))\} &= \int_1^\infty x^{-q(p)-1} \sinh(a \ln(x)) dx \\ &= \int_1^\infty \left(\frac{e^{a \ln x} - e^{-a \ln x}}{2}\right) x^{-q(p)-1} dx \end{aligned}$$

After simple computations, we get:

$$P_g\{\sinh(a \ln(x))\} = \frac{a}{(q(p))^2 - a^2}, |q(p)| > a.$$

□

Similarly,

8. Since $\{cosh(a \ln(x))\} = \left(\frac{e^{a \ln x} + e^{-a \ln x}}{2}\right)$, we have

$$P_g\{cosh(a \ln(x))\} = \frac{q(p)}{(q(p))^2 - a^2}, |q(p)| > a.$$

Theorem 2.1. *If $P_g\{f(x)\} = F(q(p))$, then $P_g\{x^{-\alpha} f(x)\} = F(q(p) + \alpha)$ and α is a constant number.*

Proof . Since by definition we have

$$\begin{aligned} P_g\{x^{-\alpha} f(x)\} &= \int_1^\infty x^{-q(p)-1} x^{-\alpha} f(x) dx \\ &= \int_1^\infty x^{-(q(p)+1+\alpha)} f(x) dx \\ &= F(q(p) + \alpha) \end{aligned}$$

□

Definition 2.2. Let $g(x)$ be a function, where $x > 1$ and $P_g\{f(x)\} = F(q(p))$, $g(x)$ is called an inverse for general polynomial integral transform and written as $P_g^{-1}\{F(q(p))\} = g(x)$, where P_g^{-1} returns the integral transform to the ordinal function ($g(x)$).

2.3. Inverse general polynomail integral transform

1. $P_g^{-1}\{\frac{k}{q(p)}\} = k, q(p) > 0.$
2. $P_g^{-1}\{\frac{1}{q(p) - n}\} = x^n, q(p) > n, n \in R, x > 1.$
3. $P_g^{-1}\{\frac{1}{(q(p))^2}\} = \ln x, q(p) > 0, x > 1.$
4. $P_g^{-1}\{\frac{1}{(q(p) - n)^2}\} = x^n \ln x, q(p) > n, n \in R, x > 1.$
5. $P_g^{-1}\{\frac{a}{((q(p))^2 + a^2)}\} = \sin(a \ln x), x > 1.$
6. $P_g^{-1}\{\frac{q(p)}{((q(p))^2 + a^2)}\} = \cos(a \ln x), x > 1.$
7. $P_g^{-1}\{\frac{a}{((q(p))^2 - a^2)}\} = \sinh(a \ln x), |q(p)| > a, x > 1.$
8. $P_g^{-1}\{\frac{q(p)}{(q(p))^2 - a^2}\} = \cosh(a \ln x), |q(p)| > a, x > 1.$

A property of P_g^{-1} is a linear property as it is for the transform P_g . Now if

$$P_g^{-1}\{F_1(q(p))\} = g_1(x), \dots, P_g^{-1}\{F_n(q(p))\} = g_n(x)$$

and A_1, A_2, \dots, A_n are constant, then

$$\begin{aligned} &P_g^{-1}\{A_1F_1(q(p)) + A_2F_2(q(p)) + \dots + A_nF_n(q(p))\} \\ &= A_1P_g^{-1}\{F_1(q(p))\} + A_2P_g^{-1}\{F_2(q(p))\} + \dots + A_nP_g^{-1}\{F_n(q(p))\} \end{aligned}$$

Theorem 2.3. If $P_g^{-1}\{F(q(p))\} = g(x)$, then $P_g^{-1}\{F(q(p) + \alpha)\} = x^{-\alpha}P_g^{-1}\{F(q(p))\}$, where α is a constant number.

Proof . The proof holds, because $P_g^{-1}\{F(q(p) + \alpha)\} = x^{-\alpha}g(x) = x^{-\alpha}P_g^{-1}\{F(q(p))\}$. \square

3. Solution of linear ordinary differential equation with variable coefficients

Definition 3.1. [6] *The linear ordinary differential equation*

$$a_0x^ny^{(n)} + a_1x^{n-1}y^{(n-1)} + \dots + a_{n-1}xy' + a_ny = h(x)$$

a_0, a_1, \dots, a_n are constants and $h(x)$ is a function of x , is called Euler's equation.

Theorem 3.2. *If the function $h(x)$ is defined for $x > 1$ and its derivatives $h'(x), h''(x), \dots, h^n(x)$ are exist, then*

$$\begin{aligned} P_g\{x^n h^{(n)}(x)\} &= -h^{(n-1)}(1) - (q(p) - (n - 1))h^{(n-2)}(1) \\ &\quad - (q(p) - (n - 1))(q(p) - (n - 2))h^{(n-3)}(1) \\ &\quad - \dots - (q(p) - (n - 1))(q(p) - (n - 2))(q(p) - (n - 3)) \dots (q(p) - 1)h(1) \\ &\quad + (q(p) - (n - 1))!F(q(p)) \end{aligned}$$

Proof . Since $P_g\{xh'(x)\} = \int_1^\infty x^{-q(p)}h'(x)dx$, by integration by parts, we obtain:

$$\begin{aligned} u &= x^{-q(p)}, dv = h'(x)dx, du = -q(p)x^{-q(p)-1}dx, v = h(x), \\ P_g\{xh'(x)\} &= h(x)x^{-q(p)}|_1^\infty + q(p) \int_1^\infty x^{-q(p)-1}h(x)dx, \\ P_g\{xh'(x)\} &= -h(1) + q(p)P_g\{h(x)\} = -h(1) + q(p)F(q(p)), \end{aligned}$$

and

$$P_g\{x^2h''(x)\} = \int_1^\infty x^{-q(p)+1}h''(x)dx.$$

Also, by integration by parts, we obtain:

$$\begin{aligned} u &= x^{-q(p)+1}, dv = h''(x)dx, du = (-q(p) + 1)x^{-q(p)}dx, v = h'(x), \\ P_g\{x^2h''(x)\} &= h'(x)x^{-q(p)+1}|_1^\infty + (q(p) - 1) \int_1^\infty x^{-q(p)}h'(x)dx, \\ &= -h'(1) + (q(p) - 1)P_g\{h'(x)\} = -h'(1) - (q(p) - 1)h(1) + (q(p) - 1)q(p)F(q(p)). \end{aligned}$$

Also

$$\begin{aligned} P_g\{x^3h'''(x)\} &= \int_1^\infty x^{-q(p)+2}h'''(x)dx, \\ &= -h''(1) - (q(p) - 2)h'(1) - (q(p) - 2)(q(p) - 1)h(1) + (q(p) - 2)(q(p) - 1)q(p)F(q(p)). \end{aligned}$$

Thus, by repeating this technique for n^{th} -times, we obtain

$$\begin{aligned} P_g\{x^n h^{(n)}(x)\} &= \\ &= -h^{(n-1)}(1) - (q(p) - (n - 1))h^{(n-2)}(1) - (q(p) - (n - 1))(q(p) - (n - 2))h^{(n-3)}(1) - \dots \\ &= - (q(p) - (n - 1))(q(p) - (n - 2))(q(p) - (n - 3)) \dots (q(p) - 1)h(1) + (q(p) - (n - 1))!F(q(p)). \end{aligned}$$

□

4. Application

In this section, we represent three application:

Application 4.1. We solve the differential equation $x^2y'' + 4xy' + 2y = x \ln x$ with condition, $y(1) = y'(1) = 0$.

Taking P_g to both side of above equation, we get

$$-y'(1) - (q(p) - 1)y(1) + (q(p) - 1)(q(p))P_g\{y(x)\} + 4[-y(1) + q(p)P_g\{y(x)\}] + 2P_g\{y(x)\} = \frac{1}{(q(p) - 1)^2}.$$

Applying the conditions of the above differential equation, we have:

$$(q(p) - 1)(q(p))P_g\{y(x)\} + 4(q(p))P_g\{y(x)\} + 2P_g\{y(x)\} = \frac{1}{(q(p) - 1)^2},$$

$$[(q(p) - 1)(q(p)) + 4(q(p)) + 2]P_g\{y(x)\} = \frac{1}{(q(p) - 1)^2},$$

$$[(q(p))^2 + 3(q(p)) + 2]P_g\{y(x)\} = \frac{1}{(q(p) - 1)^2}.$$

By using partial fraction for the right sides of the above equation, we have:

$$P_g\{y(x)\} = \frac{A}{(q(p) + 1)} + \frac{B}{(q(p) + 2)} + \frac{C}{(q(p) - 1)} + \frac{D}{(q(p) - 1)^2}.$$

After simple computations, we obtain

$$A = \frac{1}{4}, B = \frac{-1}{9}, C = \frac{-5}{36}, D = \frac{1}{6}$$

and by taking P_g^{-1} to both side of the above equation, we obtain

$$y(x) = P_g^{-1}\left\{\frac{1}{(q(p) + 1)}\right\} + P_g^{-1}\left\{\frac{-1}{(q(p) + 2)}\right\} + P_g^{-1}\left\{\frac{-5}{(q(p) - 1)}\right\} + P_g^{-1}\left\{\frac{1}{(q(p) - 1)^2}\right\}.$$

Then the exact solution is

$$y(x) = \frac{1}{4}x^{-1} + \left(\frac{-1}{9}\right)x^{-2} - \frac{5}{36}x + \frac{1}{6}x \ln x,$$

$$y(x) = \frac{1}{4x} - \frac{1}{9x^2} - \frac{5}{36}x + \frac{1}{6}x \ln x.$$

Application 4.2. We solve the ordinary differential equation:

$$x \frac{dy}{dx} + y = 16 \sin(\ln x), \text{ and } y(1) = -7.$$

Taking P_g to both side of above differential equation, we get

$$\begin{aligned} [-y(1) + q(p)F(q(p))] + F(q(p)) &= \frac{16}{(q(p))^2 + 1}, \\ [7 + q(p)F(q(p))] + F(q(p)) &= \frac{16}{(q(p))^2 + 1}, \\ (q(p) + 1)F(q(p)) &= \frac{16}{(q(p))^2 + 1} - 7, \\ F(q(p)) &= \frac{16 - 7(q(p))^2 - 7}{((q(p))^2 + 1)((q(p)) + 1)} \\ F(q(p)) &= \frac{-7(q(p))^2 + 9}{((q(p))^2 + 1)((q(p)) + 1)}. \end{aligned}$$

By using partial fraction for the right side of the above equation, we obtain:

$$P_g\{y(x)\} = \frac{A}{(q(p) + 1)} + \frac{B(q(p)) + c}{(q(p))^2 + 1}.$$

After simple computations, we get:

$$A = -1, B = -8 \text{ and } C = 16.$$

We substitute this values in above equation, we get:

$$F(q(p)) = P_g\{y(x)\} = \frac{1}{(q(p) + 1)} + \frac{-8(q(p)) + 16}{(q(p))^2 + 1}.$$

And taking the inverse transformation of the last algebraic equation, we get the exact solution of the required differential equation

$$y(x) = x^{-1} + 16 \sin(\ln(x)) - 8 \cos(\ln(x)).$$

References

- [1] K.S. Aboodh, *The new integral transform , "Aboodh transform"*, Glob. Pure Appl. Math. 9(1) (2013).
- [2] B. Barnes, *Polynomial integral transform for solving differential equations*, Eur. J. Pure Appl. Math. 9(2) (2016) 140–151.
- [3] M. Braun, *Differential Equation and Their Application*, 4th Ed., New York, Spring-Verlag, 1993.
- [4] Z.H. Khan and W.A. Khan, *Natural transform-properties and applications*, Nust J. Eng. Sci. 1 (2008).
- [5] E.A. Mansour, S.A. Mehdi and E.A. Kuffi, *The new integral transform and its applications*, Int. J. Nonlinear Anal. Appl. 12(2) (2021) 849–856.
- [6] A.H. Mohammed and A.N. Kathem, *Solving Euler's equation by using new transformation*, J. Kerbala Univ. 6(4) (2008) 103–109.
- [7] G.K. Watugula, *Sumudu transform: a new integral transform to solve differential equations and control engineering problems*, Int. J. Math. Edn. Sci. Techol. 24(1) (1993) 35–43.
- [8] T.M. Zaki, *The new integral transform, "Elzaki transform"*, Glob. J. Pure . Appl. Math. 7(1) (2011) 57–64.